
EXAMPLE: Find the reference angle for

(a) θ =
5π

3
(b) θ = 870◦

Solution:

(a) Since
5π

3
=

6π − π

3
=

6π

3
−

π

3
= 2π −

π

3

the reference number for 5π/3 is π/3 and the terminal point of 5π/3 is in Quadrant IV.

(b) The angles 870◦ and 150◦ are coterminal [because 870− 2(360) = 150]. Thus, the terminal
side of this angle is in Quadrant II (see the second Figure below). So the reference angle is

θ = 180◦ − 150◦ = 30◦

EXAMPLE: Find the reference angle for

(a) θ =
17π

6
(b) θ =

13π

7

Solution:

(a) We have
17π

6
=

18π − π

6
=

18π

6
−

π

6
= 3π −

π

6
, therefore θ =

π

6
(Quadrant II).

(b) We have
13π

7
=

14π − π

7
=

14π

7
−

π

7
= 2π −

π

7
, therefore θ =

π

7
(Quadrant IV).

EXAMPLE: Find

(a) sin 240◦ (b) cot 495◦

3
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